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high grade rag stock
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with a WATER RESISTING surface sizing.
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Slope Stake
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Distance out from Side or Shoulder Stake

Roadway of any Width, Side Slopes 11 to 1.

0
1
3
4
6
7
9
10
112
13
15
16
18
19
21
22
24
25
27
28
30
31
33
34
36
37
39
40
42
43
45
46
48
49
b1
52

Slope Stake

CriNHO-HONMU WL N
vl = F

DISTANCES FROM SIle STAKES FOR CROSS -SECTIONING

In the figure helow: opposite 7 under~{‘Cut or Fill’’ an

from the side stake at left, Also,
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TRIGONOMETRIC FORMULZAE

1 b [
Right Tnangle

Oblique Tnangles
Solution of Right Tnangles

For Angle A, sin = %, cos =

, tan =

Given Required
a b 2B ,c

]
S |a [STESEY ]e-

e o
TR
]

a, ¢ A B, b =cos B, b= \/c+a)(c 5-—-6\/1-—_"'

A a B, b ¢ B=90°—A4,5 =acotd,c=

sin A.
4,05 B,a, ¢ | B=90°—A4,a =btan4,c=—-
cos A,

4,¢ | B,a b | B=90°—4,a=csind,b=ccos4,
Solution of Oblique Triangles

Required asin B 2 asin 0
B2 177 2= S A AR,
r ___bsmA. o asm()’
B,¢, ¢ | sinB= = 0 = 180°—(4 + B), ¢ il T

4, B¢ | A+B=180°—0, tan }(A—B)="2= b):‘:(bAJFB)

_asin0
sin 4

a+b +ec
2 ——sin \/ b 7 5
Y iﬂ%iiﬁ,o,:mo"—m-fm

Area 8=a—-‘*—%, area = /3(5—a) (8—70) (s—0)
_besind
2

A a? sin B sin O
IERE= e
gea 2sin 4

REDUCTION TO HORIZONTAL

Horizontal distance=Slope distance multiplied by the
° cosine of the vertical angle. Thus: slope distance =3819. 4 ft.
X0 Vert. angle=-5° 10’. From Table, Page IX. cos 5° 10/=

o &5 .9959. Horizontal distance=319.4X.9959=318.09 ft.
= Horizontal distance also= Slope distance minus slope
distance times (1—cosine of vertical angle) With the
same flglxtxres g.‘t; }n tdheC preceg%nlgo,exsxggﬂf téxsgsfol})gx-
ing result is obtained. Cosine =, o ¥

Horizontal distance . g1 B 041 1.91. 310.4—1.31 =318.09 £t,

When the rise is known, the horizontal distance is approximately:—the slope dist-
ance less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,

slope distance=302.6 ft. Horizontal distance=302.6— 2‘; 30;48—302.6 0.92=-302.28 ft.

Area
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